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1.What will be display or the result if the following commands are written 

in MATLAB  

a([1 3],[1 3]) = [99 88 ; 77 66] 

a([2 3],[2 3]) = [55 44 ; 33 22] 

a([2 2],[2 2]) = [11 55 ; 99 66] 

a([2 3],[2 3])  

a([1 3],[1 3])  

a([1 2],[1 2])  

a([3 2],[3 2])  

a([3 3],[3 3])  

a([1:3], 1) = 55 

a(1, [1:3]) = 44 



Mohamed Khider University of Biskra, Algeria 

Faculty of Sciences and Technology 

Department of Civil Engineering and Hydraulics  

2nd Year Civil Engineering / Hydraulics / Public Works  

 

 MATLAB For Beginners                          2023 - 2024                              L2TC (GC + TP + HYD)                  

a([2:3], 1) = 99 

a([2:3], 2) = 88 

a(1, [2:3]) = 33 

a(2, [2:3]) = 22 

 

 

 

 


